
problem 1



2.  

(a) ȽαUA/(FA0*CPaȌα ଵହ଴଴ ୡୟ୪/(୏כ୦) 
ଷ଴଴೘೚೗

೓ (௠௢௟כ௄)/ହ ௖௔௟כ
= 1 

T*α బ்ାఈ்ೌ ೘
ଵାఈ = ସ଺଴ାଶ଺଴

ଵାଵ =  ܭ360

�ȋ�Ȍα�pA*(1+ Ƚ)*(T-T*Ȍα�ͷ����Ȁȋ���ȗ�ȌȗȋͳΪͳȌȗȋT-͵͸ͲȌαͳͲȗȋ�-360) 

(b) T*’α బ்ᇲାఈ்ೌ ೘
ଵାఈ = ଵ଴ଶ଴ାଶ଺଴

ଵାଵ =  ܭ640

�ȋ�Ȍα�pA*(1+ Ƚ)*(T-T*Ȍα�ͷ����Ȁȋ���ȗ�ȌȗȋͳΪͳȌȗȋ�-͸ͶͲȌαͳͲȗȋ�-640) 

ȋ�Ȍ��������������������������ǡ���������
ȋ�Ȍα�ȋ�Ȍǡ��
/��αͲ 

	������������ǡ������������������������������������ȋͷͷͲ�ǡ�ͳǤͶͷ�ΪͲͶ����Ȁ���Ȍ 

�α
 ��� (T)/ (-ȴ,RX)= 
ଵ.ସହ୉ା଴ସ ୡୟ୪/୫୭୪

15000  ୡୟ୪/୫୭୪ =ͲǤͻ͹ 

 R(�Ȍ��������������he�������������is ȋͷͷͲ�ǡ�ͳǤͶͷ�ΪͲͶ����Ȁ���Ȍ�

�ȋ�Ȍα-[CpA*UA/(FAO*CpA)*T��+ CpA *T�-CpA*( UA/(FAO*CpA)+1)*T] 

R(ͷͷͲ)αͳǤͶͷ�ΪͲͶ 

UA α�ͳͶͷͻͲ cal/(K כ h) 

T*α బ்ାఈ்ೌ ೘

ଵାఈ
ȽαUA/(FA0*CPaȌ
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